
Big tax cuts require big policy changes.  Tax hikes are a symptom of bad policies
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SINCE 2000 THE AVERAGE REAL ESTATE TAX HAS INCREASED FROM $2400 TO $7100.  
IF IT HAD INCREASED AT THE SAME RATE AS INFLATION, IT WOULD BE $3800.
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Red:  raises are less than inflation.
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National Socialist German Workers' Party
Best way to fight CRT is to start talking about what America has done right
Some reason the French gave us the Statue of Liberty
Same with books – Advocate books that should be in libraries, and I’d start with the 
Little House series
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Two passing thresholds:  Pass Proficient and Pass Advanced.  Pass (barely) proficient 
is just above failing.  Pass advanced is a better indicator of college and career 
preparedness.
At Longfellow MS, 77% of Asians pass advanced, 48% of whites, and 55% of Hispanics
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The October 12, 2021,  derailment on the Blue Line was caused by the wheel axle 
assembly of the rail cars.  WMATA had not reported any of the 52 failures by 7000 
series railcars due to alignment issues that had occurred since 2017
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There is a place for unions.  I wish I had had a union every time my aerospace 
employer cut my pension.
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When Trump advocated hydroxychloroquine as cure for COVID, the prestigious British 
medical journal, Lancet, published a study condemning its use.  After hospitals 
stopped using it, the article was quietly retracted.
The federal government has spent $5.3 billion in COVID relief funds, or more 
accurately lockdown relief funds
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To cut government spending, we self-sufficient families, who don’t need government 
subsidies and in fact have a little extra to help others.
A government cannot get far ahead of its families
Gun violence result of family breakdown – instead the Left passes complicated gun 
laws so law-abiding citizens become inadvertent felons
Instead of campaigning for families and children, many campaign for “women’s 
rights”  17,000 abortions per year in Va., half of which are female.  What rights did 
they get?  U.S. fertility rate well below the replacement level – is that what the Left 
wants.  With an ageing society, fewer to share the cost of caring for the elderly and 
therefore pay higher taxes.
Government, if it exists, exists not in legislatures and boardrooms but in families that 
teach individuals to govern themselves.
Edmund Burke: “Men are qualified for civil liberty, in exact proportion to their 
disposition to put chains upon their appetites.”
That skill is taught in the family
But you need to be able to read, get a good job, have opportunity, domestic 
tranquility, health, affordable reliable energy
We pay a lot of taxes for programs that destroy families – schools, welfare
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Achieving “national morality … in the exclusion of religious principle” is what we’ve 
been trying to do for half a century.
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